Efficiency vs P,

~ 0.5

o
2 0.09

>

20.08
4]

0.07
0.06
0.05
0.04
0.03

e

...........................................

o
4

[y

107 1 10 prT (Ge\})o3

MKEIL_TToriginal
mkFit_TT pL
mkFit_TT_pLW
mkFit TT pLW_IMP

<4

= 0.1
Z0.09
$0.08
£0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Iclency vs

et

Ratio

T T T T [ TTTT [T TTTTTTT[TTIT[TTTT]

0.95

w
|
N
|
N
-
N
w

TP N

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02

0.0Lf |-+

.'.!.'.'.'.'.!.'.'.'.'.!.'.'.'.'.|.'.'.'.'.|.'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'.'

Ratio

1.0 H

||'-||||

TP @



	Contents
	Page 1


